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& 17 = \begin{document}
18 + \begin{frame}{Introduction}
19 = \begin{center}
20 \color{red!50!blue}{\titlepage{Bsc(Hons.Mathematics)}}\}
21 {{\color{red!50!blue}{College Roll No. - MAT/20/119}\}\
22 University Roll No. - 20044563043} }\\
23  \end{center}

B 24 \end{frame}
25 = \begin{frame}{Starting of Questions}
26 ~ \begin{block}{Example 9.5}
27 \Vhuge \centering {My document\\
28 A Student\)
29 January 1, 2011}
30 \end{block}
31
32 \end{frame}
33 » \begin{frame}{Example 9.5}
34 = \begin{enumerate}
35 \item Let S$i\mathbf{x}=(x_1,\dots,x_n)s$,
36 where the $x_i$ are non negative real numbers .\\
37 Set
38 SM_r(x)s$=s\left(\frac{x_1rr+x_2*r+\cdots+x_n*r}{n}\right) "\ frac{1}{r},\; r

Vin \mathbf{R} \setminus \{0\}5,\\

39 and \[M_0(\mathbf{x})=\left(x_1 x_2 \cdots x_n\right)}*{1/n}\]\}
40 we call sM_r(\mathbf{x})$ the \emph{$rsth power mean} of $\mathbf{x}s.\}
41 Claim: \[\Uim_{r \rightarrow 0} M_r{(\mathbf{x})= M_0(\mathbf{x})\]
42

43  \end{enumerate}

44 \end{frame}

45

46 ~ \begin{frame}{IInd part of 9.5}

47 - \begin{enumerate}

48 \item Define$ $\[V_n=\left[\begin{array}{ccccc} 1 & 1 & 1 & \cdots & 1\\
49  x_1 & x_2 & x_3 & ‘\cdots & x_n\\

50 x_172 & X_2"2 & x_3"2 & \cdots & x_n"2\\

51 \vdots & \vdots & \vdots & \ddots & \wvdots\}

52 x_1Mn-1} & x_2*{n-1} & x_3*{n-1} & ‘\cdots & x_n"{n-1}

53 \end{array}\right]\]

54 Wwe call sv_n$ the \emph{Vandermonde matrix} of order $ns$.\\
55 Claim:\[\det V_n = \prod_{1 \leq i < j \leq n}(x_j-x_1i).\]
56

57 \end{enumerate}

58 \end{frame}
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\end{block}

\end{frame}
« \begin{frame}{Example 9.5}
« \begin{enumerate}
\item Let S\mathbf{x}=(x_1,\dots,x_n)s,
where the $x_i%$ are non negative real numbers .\\
Set
SM_r(x)$=s\left(\frac{x_lrr+x_2*r+\cdots+x_n*r}{ni\right)*\ frac{1}{r},\; r
\in \mathbf{R} \setminus \{0\}$,\\
and \[M_0(\mathbf{x})=\left(x_1 x_2 \cdots x_n\right)*{1/n}\]\}
we call SM_r(\mathbf{x})$ the \emph{$r$th power mean} of $\mathbf{x}s$.\\
Claim: \[\Uim_{r \rightarrow 8} M_r(\mathbf{x})= M_0(\mathbf{x})\]

\end{enumerate}
\end{frame}

* \begin{frame}{IInd part of 9.5}
+ \begin{enumerate}
\item Define$ $\[V_n=\left[\begin{array}{ccccc} 1 & 1 & 1 & \cdots & 1\\
Xx_1 & x_2 & x_3 & \cdots & x_n\\
X_172 & x_222 & x_372 & \cdots & x_n"2\\
\vdots & \vdots & \vdots & \ddots & \vdots\\
x_1*{n-1} & x_2*{n-1} & x_3*{n-1} & \cdots & x_n*{n-1}
\end{array}\right]\]
We call $V_n$ the \emph{Vandermonde matrix} of order $n$.\\
Claim:\[\det V_n = \prod_{1 \leq i < j \leg n}(x_j-x_1).\]

\end{enumerate}
\end{frame}
* \begin{frame}{Question number 4}
* \begin{block}{}
+» \begin{itemize}
\item $$343+423+543=6"355
\item §5 \sqrt{100}=105%%
\item $$(a+b)*3=a*3+3a"2b+3ab"2+b"35%
Vitem $$\sum_{k=1}*n k=\frac{n(n+1)}{2}ss
Vitem $8\frac{\pi}{4}=\frac{l}{1}-\frac{l}{3}+\frac{1}{5}-\frac{1}{7}+\frac{
13{9}-\frac{1}{11}+\cdots5s
\end{itemize}
\end{block}
\end{frame}
+ \begin{block}{}
= \begin{itemize}
\item $$\cos \theta=\sin (90-\theta)ss
\item $ser{i\thetal}=\cos\theta+i\sin\thetass
Vitem $8\lim_{\theta \rightarrow @} \frac{\sin\thetal}{\theta}=15$
Vitem $$\Lim_{x\rightarrow \infty} \frac{\pi(x)}{x/log x}=15%
Vitem $$\int_{-\infty}*\infty e”r{-x"2}dx=\sqrt{\pi}s$
\end{itemize}
\end{block}
\end{frame}
* \begin{frame}{Question number 5}
» \begin{block}{}
* \begin{itemize}
\item Positive numbers a,b, and c are the side lengths of a triangle if and
only of a+b $>$ ¢, b+c $>§ a, and c+a $>$ b.
\item The area of triangle with side lengths a,b,c is given by Heron's
formula:

$$A=\sqrt{s(s-a) (s-b) (s-c) }$s\,\\




